10K&A/1048 20KA/204
TEXamm

Typelhave no lead
wirg) DB xamm

Typethave lead wire)®Bx6mm

Mominal D.C Spark-over voltage
100% /50w

Tolerance of WS (V)%
Impulse spark-over voltage
1M Apsihy

Impulse discharge current
B/20ps(KAY 10times

Impulse discharge current
10/1000ps{ A times)
Alternating discharge current
EOHZ 10timesta)

Insulation resistance (1)
Capacitance {PF}

Holdowver voltage

BKA104 10KA/ 104
5. 5Eamm
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Typeihave no lead wire)® 5, 5x6mm

Typeihave lead wire)® 5, 5x6mm

Mominal D.C Spark-over voltage 100%/s{v)

Tolerance of Y5 (V1%

Impulse spark-owver voltage 1KM/ps(W)
Impulse discharge current 8/20ps{KA)
10times

Impulse discharge current
10/1000psE A times)

Alternating discharge current S0HZ
10times{A)

Insulation resistance (2)
Capacitance (PF)

Holdowver woltage

20 20 20 20 20 20 20 20 20
=10 =10"  =10® =10 =10  =10®  =10% =108 =107
€15 #£1.5 1.5 £15 1.5 €15 1.5 £1.5 £1.§
2 co ED 135 135 135 135 135 135
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